Week 35



Define

Runoff
Sediment

In state

d shrubs,
but

A. huma and shrubs.
B. allanim

people.
C. removal of biodiversity.
D. flowering shru parks.

Which human activity is correctly paired with its likely future consequence?
A. overfishing in the Atlantic — increase in supply of flounder and salmon
as food for people.

B. development of electric cars or hybrid vehicles — increased rate of
global warming.

C. genetically engineering animals — less food available to feed the
world’s population.

D. use of fossil fuels — depletion of underground coal, oil, and natural gas
supplies.



Defin

Erosion

When do erosion an n occur in a river?

A. Erosion occurs as the moving river picks up soil and
moves it downstream. Deposition occurs when the river
currents slow and drop the soil.

B. Deposition occurs as the moving river picks up soil and
moves it downstream. Erosion occurs when the river currents
slow as it enters the larger body of water and drops the soil.
C. Theriveris eroding the land. There is no deposition.

D. The delta forming at the mouth of the river is from
deposition. There is no erosion.



1. Giv us

* An earthquake tha
cause —
A. atsunami.
B. magma.
C. a fault to disappear.
D. avolcano to form.

e ocean floor may



T

Get plies
Clear Desk




What sy Elements
represents

What simple machine would be best to use when
lifting a box to a moving truck



